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1 Introduction 
This paper summarized the offline discussion on muting procedure.

2 Discussion 
The following two scenarios discussed so far:

Scenario1: Macro eNB is requested to do muting

With the assumption that Macro eNB has high possibility to be the syn source of surrounding SeNBs, if the muting stratum level is equal to 0, the Macro eNB can not do fully muting as requested, because the surrounding SeNBs will lost the synchronization RS.

Scenario2: SeNB is requested to do muting 
In dense small cell deployment case, the SeNB will probably to be chosen as the syn source, and the syn source SeNB and the aggressor SeNB are also very likely with the same stratum level. The issue raised that when the aggressor SeNB receives the muting request with the same stratum level of its own, if the aggressor SeNB knows that there has no cell listening to itself, it can do fully muting based on the muting pattern as requested without any negative impact. 
Assumption: Fully muting based on the muting pattern as requested for SeNB is allowed. 
Then the possible muting solutions for Scenario1:

a) Macro eNB always do partial muting, e.g., choose longer muting period.
b) Macro eNB refuses to do muting. Muting can not be supported when the muting stratum level is equal to 0.
Then the possible muting solutions for Scenario2:

a) SeNB do fully muting 
· Based on implementation. Wrong muting may occur, which will result in that its syn target SeNB(s) will lost the synchronization RS.
· SeNB do fully muting with the synchronization source acknowledgement notification. If the SeNB knows it was not selected as the syn source, it can do fully muting based on the muting pattern as requested without any negative impact. S1 signalling will be needed for the notification.
b) SeNB do partial muting, e.g., choose longer muting period. It will decrease the synchronization precision unnecessary especially when the aggressor SeNB has not been chosen as the syn source for any other SeNB.

c) SeNB refuses to do muting. Muting can not be supported when the muting stratum level is equal to its own syn stratum level.
Technically, solutions listed above need to be evaluated and decided.
3 Conclusion and proposal
It is proposed for RAN3 to select one solution for fully muting based on the status quo above in next meeting.
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